
Picking Fruit

Problem
 Card 1

H
an still has tw

o apricot w
eights to add to com

plete
his line plot.

First w
eight:

ounces

Second w
eight:

ounces

W
hat is the diff

erence betw
een H

an's heaviest apricot
and the m

ost com
m

on apricot w
eight?

Picking Fruit

D
ata Card 1

H
ere are som

e of H
an's apricot w

eights.

Picking Fruit

Problem
 Card 2

H
ere are som

e of the w
eights of M

ai's apricots. There
are 15 apricot m

easurem
ents total. Find the m

issing
w

eights to com
plete the line plot.

Picking Fruit

D
ata Card 2

●
The lightest apricot is

ounces.

●
The heaviest apricot is

ounces.

●
The m

ost com
m

on apricot w
eight is

ounces.
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